):0:9:0.0:0:9:0:0:9:0.0:9:0.0:9:9.0.0:9:0.0.0:9.0:0:9:0.0:9:9.0.:0:9.0.0:9:0.0:9:9.0.0.9.0.0:9:0.0:0:0.0.0.9.0.0:9:0.0:0:9.0.0.9:0.0:0:0.0:0.9.0.0:9:0.0:0:9.0.0.9:0.0.9:0.0:0:9.0.0.9:0.0.0.9.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00001XX
Diff0l for No.9844

( {6x+k P x<:4D [ [kx+94 ; x<:—4D
No0I =| f(x)= . L No02=|f(x)=

4x°+5 ; x>4 4x%+k ; x>-4
ax’ -2 ; x<=-4 ax+16 x<-4
No03 =| f(x) = 70 +6x s A<x<=2|]|, ,NoO4=|f(x)=|bx+a ; -4<=x<=2
2% +3x+bh x>2 Tx+b x>2

No05 =[f(x)=(x—1)+2]

f(x)=3x"+2
No06 = - N07—[“:7} Nog—[“zz} NOS—[aIZ}
006 = b=42 , NoO7=\ ) _ 4} s NoO8=| "o} s No08=|, 3
c=4.1
d=401
45+ /,
/
40 //
35+ /
/
30+ /
/
//
25+
//
20+
/
e
151 -
i
| 7
10 v
pd
5_
\-‘—__._‘_ﬁ_'_'_'_'_'_'___
1 1 2 3 4 5 6 7 8

_5—
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00002XX
Diff0l for No.9872

[ [kx+18 ; x<3D [ {5x+k ; x<:_4D
No0l =| f(x) = . > No02=|f(x)=

3746 5 x>=3 kX’ =65 ; x>-4
-1+2x ; x<-3 ax+18 x <-4
No03 =| f(x) = ax’+3x-25 ; -3<=x<4||, ,NoO4=|f(x)=| bx+a ; -4<=x<3
X+b ; x>=4 4x+b x>=3

No05 =[f(x)=(x-3)+1]

flx)=3x"+5
a=4
a=2 a=38 a=3
NoO6=| b=42 |, ,N007=[b:3}s 7N008:[b:6}’ ’NOOS:[bzs}
c=4.1
d=4.01
45+
40+
354
301 /

v

20- 4
15 -

10 /4

=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00003XX
Diff0l for No.9873

NoO]:(f(x):sz_S ; x<:2D’ ,NoOZ:[f(x):[2x2+k ; x<:_4D

6x+k ; x>2 kx+52 ; x>-4
l+ax N x<-3 bx+9 x<=-2
No03 =|f(x) = 2xX+6x-5 ; -3<=x<=4||, ,NoO4=|f(x)=lax+b ; -2<x<=2
X +b ; x>4 4x+a ; x>2

No05 =[f(x)=(x—1)+1]

flx)=5x"+2
a=3 a=4 a=6 a="17
NoO6=| b=32 | ,N007=[,,:2} ’Noog:[sz’ ’NOOS:[sz
c=3.1
d=3.01
45- /
/."
40- //
/
/
/
35+ /
/
30+ /
/
25 //
J//
20+
15 //
7
10| /
yd
"
5- /
/
\--—._,_,_,,_,_,__.———/
§ p 5 3 P 5 6 7 8
-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00004XX
Diff0l for No.9884

NoO]:(f(x):[3x+46 : x<4D’ ,NoOZ:(f(x):{kxz_% ; x<_3D

4x°+k ; x>=4 4x+k ; x>=-3
¥ +a ;o x<=-4 bx+11 ; x<=-2
No03 =|f(x) = 25+3x ;o 4<x<2|| ,NoO4=|f(x)=| ax+b ; -2<x<2
bl +4x+11 x>=2 6x+a x>=2

No05 = [f(x)=x"+4]

fx)=3x"+7
a=2 a=2 a=5 a=17
No06 = bhb=22 A ’N007:|:b:3:|’ ,N008=|:b:6:|, ,N008:|:b:3:|

c=2.1

d=2.01
45- /

/
/
40+ /'/
/
354 /
//
30 //
251 /
/
/
20+ //
//
151 //
//
10 /
///
5—F__/
. e o T s e

-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00005XX
Diff0l for No.9885

2 . 8x+k <-3
NoOI:(f(x):[4x Tk "<2D, ,NOOZ:(f(x):{ N * D
2x+19 ; x>=2 kx =72 ; x>=-3

4+7x ; x<-3 ax+18 ; x<=-4
No03 =| f(x)= bx*—x—-29 ;3 <=x<=4|]|, ,NoO4=|f(x)=| bx+a ; -4<x<=3
2¥ +a : x> 4 dx+b x> 3

No05 =[f(x)=(x—1)+1]

fx)=7x"+4
a=2 a=3 a=7 a=3
NoO6=| b=22 | ,N007=[,,:5} ’Noog:[sz’ ’NOOS:[sz
c=2.1
d=2.01
45- /
/."
40- //
/
/
/
351 /
/
30+ /
/
25 //
J//
20+
15 //
7
10| /
yd
"
5- /
/
\--—._,_,_,,_,_,__.———/
§ p 5 3 P 5 6 7 8
-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00006XX
Diff0l for No.9895

NOO]I(f(x):|:2x2_7 y X<:3i|)’ ’Noozz[f(x):[kx+48 N X<:—3:|)

Tx+k ; x>3 4xX+k ; x>-3
Sx+a ; x<=-3 bx+17 ; x<=-4
No03 =|f(x) = 2xX+bx-58 ; -3<x<2|| ,NoO4=|f(x)=| ax+b ; -4<x<3
x* - 68 c ox>=2 3x+a , x>=3

No05 =[f(x)=(x—1)+1]

fx)=8x"+7
a=2 a=>5 a:8 a:2
NoO6=|  b=22 | ’N007:[b:8}’ ’Noog:[sz’ ’Noogz[bﬂ}
c=2.1
d=2.01
45- /
/."
40- //
/
/
/
35+ /
/
30+ /
25 //
/
20+
//
15+ /S
7
10| /
yd
)
5- /
/
\--—._,_,_,,_,_,__.———/
. o S Sy TS W s o
-5
-10-
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00007XX
Diff0l for No.9899

NoO]:[f(x):[8x+3 g "<:2D’ ’N()OZ:[f(x):[kxz—gs . x<:_4D

4x*+k ;x> 2 Tx+k ; x>-4
ax’+5 N x<-3 ax+18 x<-2
No03 =| f(x)= 35+7x ; -3<=x<4|]|, ,NoO4=|f(x)=| bx+a ; -2<=x<35
2 -5x+b x>=4 4x+b x>=3

No05 =[f(x)=(x-3)"+3]

flx)=8x"+3
a=4
a=17 a=2 a=38
NoO6=| b=42 |, ,N007=[b:5}s 7N008:[b:3}’ ’NOOS:[b:J
c=4.1
d=4.01
45
40
351

30 ///
25+ //
20+ //

15 ///

101

=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00008XX
Diff0l for No.9920

NoOI:[f(x):[3x2+6 ; x<3D’ ,NoOZ:(f(x):{k6x+k ; x<:_2D

8x+k ; x>=3 X-18 ; x>-2
Y+3x+a N x<=-3 ax+18 x<=-3
NoO3=|f(x)=| 2+bx ;o S3<x<=2{]|, ,NoO4=|f(x)=| bx+a ; -3<x<4
3 -6 x>2 3x+b ; x>=4

No05 =[f(x)=(x—2)"+3]

fl(x)=4x" -5
a=2 a=28 a=6 a=6
No06 = b=22 A ,N007=[b _ 2}, , No0S§ :[b _ 5}, , No08 = [b _ 3}
c=2.1
d=2.01
45+
40 /i/
/
351 /
/
7
/
30| //
254 //
/
/
20+ /
15 //
10 /
//
™.
5_ \\\‘\\\ ,/’,///
\\“xah_______ﬂ—f””
. e s Sy T T o
-5
=10+
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):0:9:0.0:0:9:0:0:9:0.0:9:0.0:9:9.0.0:9:0.0.0:9.0:0:9:0.0:9:9.0.:0:9.0.0:9:0.0:9:9.0.0.9.0.0:9:0.0:0:0.0.0.9.0.0:9:0.0:0:9.0.0.9:0.0:0:0.0:0.9.0.0:9:0.0:0:9.0.0.9:0.0.9:0.0:0:9.0.0.9:0.0.0.9.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00009XX
Diff0l for No.10000

NoOI:(f(x):[zxz‘*4 ; X<4D’ ,NoOZ:(f(x):{Sx-kk ; x<_3D

Tx+k ; x>=4 kX — 47 ;o x>=-3
P +Tx+b K x<-2 ax+26 x<-3
NoO3=|f(x)=| 3x*-26  -2<=x<=3|| ,NoO4d=|f(x)=|bx+a ; -3<=x<=6
-8+ax x>3 3x+b x>6

No05 = [f(x)=x"+4]

flx)=3x"-38
a=2 a=2 a=4 a=3
No06 = bhb=22 A R N007:|:b _ 5:|, , No08 =|:b _ 7:‘, ,N008 = |:b _ 4:|

c=2.1

d=2.01
45 /

/
/
40+ /-/
/
351 /
/
30 //
25- /
/
/
20+ //
/7
15 //
%4
//
//

10| /

-

5—4/
. o S Sy TS W s o

-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00010XX
Diff0l for No.10017

( [6x+12 ; x<:3D ( {3x+k ; x<:-4D
No0l =| f(x)= , . No02=|f(x)=

kx*-6 ; x>3 kxX*—87 ; x>-4
2x°+3x-5 ; x<-4 bx+15 ; x<=-3
No03=|f(x)=| ax*-33 ;o4 <=x<2]} ,NoO4=|f(x)=| ax+b ; -3<x<3
Tx+b ; x>=2 dx+a ; x>=3

No05 =[f(x)=x"+6]

fx)=8x"+7
a=4 a=6 a=7 a=>5
No06 = b=42 A R N007:|:b _ 8:|, , No08 =|:b _ 5:‘, ,N008 = |:b _ z:l

c=4.1

d=4.01
45- //
40 //

| /
35 //
/
30 /
) /o
25 //
20 /
V4
/
//
15 pd
pd
yd
//
10+
-/.//
5_
. e o e I o o oy

-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00011XX
Diff0l for No.10025

NoO]:[f(x):[3x2+k ; x<:2D’ ,NoOZz[f(x):[8x+k ; x<_2D

5x+8 ; x>2 kx*-28 ; x>=-2
4x+a ;ox<=H4 bx+16 ; x<=-2
No03 = ﬂxﬁ:Zf—7x—72 ;o A<x<2|] ,NoO4=|f(x)=| ax+b ; -2<x<=4
bx*—82 ; x>=2 Sx+a x>4

No05 =[f(x)=(x-3)"+5]

fx)=6x"+7
a=4 a=3 a=7 a=4
NoO6=| bh=42 |, ,N007=[,,_8} ’Noog:[b—s}’ ’NOOS:L}—J
c=4.1 - - )
d=4.01
45+
40+
351
/
/
301 /
//
25+ /
/
/
20- //
7/
/
15- /.//
N e
0] /.//
\\ -
5_ \\E&H__‘ﬁvﬂ_’f_,/’////
4 D T T B e e R
-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXM6/1-6800505-00012XX
Diff0l for No.10057

Noo1:(f(x):{8x+k : x<:3D’ ’Noozz[f(x):[3x2+k ; x<_4D

3x+5 ; x>3 kx+58 ; x>=-4
3x7-2 ;o ox<=-3 ax+20 ; x<=-4
NoO3=|f(x)=[2x*+ax+28 ; -3<x<2||, ,NoO4d=|f(x)=|bx+a ; -4<x<=3
6x+b s ox>=2 6x+b x>3

No05 =[f(x)=(x-3)"+3]

fx)=4x" -7
a=2 a=28 a=3 a="17
NoO6=| b=22 |, ,N007=[b:7}s 7N008=[b:2}’ ’Noogz[bzg}
c=2.1
d=2.01
45+
40+
35+
30 /
/
//
25+ //
//
20- v
/
s
//
15- 4
yd
P
yd
10+ \\
;. \\ .y
\\h_-‘_‘—‘—___-_'/./
. o o B o Mo S
-5
=10+

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXXKXXKXXKXKXKXKXKXKXKXKXKKXKKXKKXKKXKKKXKXKXKXKXKXKXK



):0:9:0.0:0:9:0:0:9:0.0:9:0.0:9:9.0.0:9:0.0.0:9.0:0:9:0.0:9:9.0.:0:9.0.0:9:0.0:9:9.0.0.9.0.0:9:0.0:0:0.0.0.9.0.0:9:0.0:0:9.0.0.9:0.0:0:0.0:0.9.0.0:9:0.0:0:9.0.0.9:0.0.9:0.0:0:9.0.0.9:0.0.0.9.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00013XX
Diff0l for No.10061

1‘/001:(f(x):[3x+23 ' X<Z4D, ,NoOZ:(f(x):{kxz_n ; X<:-4D

2 +k ;o ox>4 3x+k [ x>-4
3x%+3x+b R x<-2 ax+18 x<=-2
NoO3=|f(x)=| ax*+6 s 2<=x<4||, ,NoOd=|f(x)=|bx+a ; -2<x<=35
2+5x R x>=4 dx+b x>95

No05 =[f(x)=(x-3)+6]

fx)=7x"+5
a=2 a=4 a=6 a=8
No06 = b=22 A ,N007=[b _ 8}’ , No0S§ :[b _ 8}’ , No08 = [b _ 7}
c=2.1
d=2.01
45+
40
35- /
/
/
/
30 //
//
Z
25+ /
/
/.
//
201 e
//
151 /
. i
™~
10 S
\ //
i Iy
5_
| e e e e
51
=10+

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXXKXXKXXKXKXKXKXKXKXKXKXKKXKXKKXKKXXKKKXKXKXKXKXKXKXK



):0:9:0.0:0:9:0:0:9:0.0:9:0.0:9:9.0.0:9:0.0.0:9.0:0:9:0.0:9:9.0.:0:9.0.0:9:0.0:9:9.0.0.9.0.0:9:0.0:0:0.0.0.9.0.0:9:0.0:0:9.0.0.9:0.0:0:0.0:0.9.0.0:9:0.0:0:9.0.0.9:0.0.9:0.0:0:9.0.0.9:0.0.0.9.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00014XX
Diff0l for No.10071

( {kx+15 ; x<4D ( [kx+60 ; x<:—3D
No0l =| f(x) = , L No02=|f(x)=

3x%-5 ;o ox>=4 4>+ k ;x> -3
3% +bx—4 : x<-3 ax+13 x<-3
No03 =| f(x) = Sx+a ;o S3<=x<=2]]|, ,NoO4=|f(x)=| bx+a ; -3<=x<=2
2x°+55 x>2 6x+b x>2
No05 =[f(x)=(x—-2)+7]
f(x)=8x"+7
a=4 a=3 a==6 a=4
No06 = b=42 , ,N007:[b: 5}, ,NoOS:[b _ 8}’ ,NoOS:[b _ 3}
c=4.1
d=4.01
45 /
/
40
/
/
351 /-
30- /
/
25- A
s
20- //
/
151 /
2
™~ /
107 ~__ 87
\\\ﬁﬁ_ﬂ/
5_
1 1 2 3 4 5 6 7 8
-5
=104
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00015XX
Diff0l for No.10088

NoO]:[f(x):[kx+37 ; X<4D’ ’N()OZ:[f(x):{kxz—zs . x<:_3D

4x°-3 ; x>=4 dx+k ; x>-3
3% +a N x<=-2 ax+23 x <=-4
NoO3=|f(x)=| 12+bx ;o -2<x<3|| ,NoO4=|f(x)=| bx+a ; -4<x<=4
P o2x+12 : x>=3 dx+b x>4

No05 =[f(x)=(x-3)+2]

fx)=5x"+7
a=4
a=4 a=17 a=6
NoO6=| b=42 |, ,N007=[b:8}s 7N008:[b:3}’ ’NOOS:[bzs}
c=4.1
d=4.01
454
40+
354

30 A
25- 7

20- /

151 A

10

=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00016XX
Diff0l for No.10385

Noo1:(f(x):{2x2+k ; X<Z3D’ ,Noozz(f(x):{2x2+k ; x<_3D

6x-5 ; x>3 kx+38 ; x>=-3
2x°+bx-3 : x<-3 ax+15 x<-3
No03 =| f(x) = ax ;o o3<=x<=21} ,NoO4=|f(x)=| bx+a ; -3<=x<3
2+5x ; x>2 4x+b x>=3

No05 =[f(x)=(x-2)"+2]

flx)=3x"—4
a=4
a=4 a=7 a=2
NoO6=| b=42 |, ,N007=[b:8}s 7N008:[b:4}’ ’NOOS:[bzs}
c=4.1
d=4.01
45
40 1/

35 /
Va

30 -
25 y
.
20- /-
/
15 //

10

=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXXXXXXXXXXXXXM6/1-6800505-00017XX
Diff0l for No.10387

NoO]:(f(x):sz'FS ; x<:4D’ ,NoOZ:(f(x):[kx+56 ; x<:_3D

kx+49 ; x>4 4x+k ; x>-3
3% +ax—2 N x<-2 ax+15 x<-3
No03 =| f(x) = 6x+b ; -2<=x<=4]]| ,NoO4=|f(x)=| bx+a ; -3<=x<3
23+ 4 ; x> 4 4x+b x>=3

No05 = [f(x)=x"+5]

fx)=3x"-7
No06 = ba—:442 N07—[“:8} Nog—[“zs} NOS—[aIZ}
oo = DY U= posy N T pas Y T s
C=4.
d=401
45 /
//
i /
40 /
/
/
35+ //
30- /
25 /
20+
//
15 /
yd
i
4
/
10+
//
5—#/
1 1 2 3 4 5 6 7 8
_5—
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00018XX
Diff0l for No.10914

NOO]:(f(x):|:kx2_2 ; x<:3D’ ,NoOZ:(f(x):{k)HM ; x<:_2D

6x+7 ; x>3 2xX+k ; x>-2
bl +4x+4 ;o x<=-2 ax+20 x<-2
No03 =|f(x) = 14+ax ;o -2<x<3|| ,NoO4=|f(x)=| bx+a ; -2<=x<6
2% +5 : x>=3 3x+b x>=6

No05 =[f(x)=(x—-2)+7]

fx)=6x"+7
a=3
a=>5 a=4 a=4
NoO6=| b=32 |, ,N007=[b:6}s 7N008:[b:3}’ ’NOOS:[bzz}
c=3.1
d=3.01
45- /

40 /
/

351 /-
30 /
/
/
25- A
/
20- //
/
/

15- /
10 .

e =
‘\\\\H“hhh—%wﬁv—i~/”)°///
5 |
1 1 2 3 4 5 6 7 8
51
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00019XX
Diff0l for No.10945

[ [kx+7 K x<:2D ( {6x+k : x<—3D
No0I =| f(x) = . L No02=|f(x)=

2xX+7 ; x>2 kxX*~50 ; x>=-3
ax’—x—4 ;o x<=-3 bx+27 ; x<=-4
NoO3=|f(x)=| 35+3x ;o -3<x<2|] ,NoO4=|f(x)=| ax+b ; -4<x<=35
2%+ b ; x>=2 3x+a x>5

No05 =[f(x)=(x—-2)+7]

flx)=8x"-3
a=3 a=6 a=7 a=3
NoO6=| b=32 | ,N007=[,,:3} ’Noog:[sz’ ’NOOS:[bzz}
c=3.1
d=3.01
45- /
//
/
40+
/
/
35- /
30- //
/
25 //
20+ /S
151 /
o
I~ /
107 ~__ 87
\\— ﬁﬂ____,,—//
5_
. T I ) U P S o -
-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00020XX
Diff0l for No.10954

NOO]I(f(x):|:2x2+3 N x<:4i|)’ ’Noozz[f(x):':kx+60 ;X <= —3:|)

dx+k ; x>4 4x+k ;o x>-3
3x +a ; x<=-4 bx+14 ; x<=-2
No03 =| f(x) = 58+ bx ; A<x<=3|| ,NoO4=|f(x)=| ax+b , -2<x<3
2 -5x+61 ; x>3 6x+a ; x>=3

No05 =[f(x)=x"+6]

flx)=3x"-2
a=2 a=6 a=5 a=4
No06 = b=22 A ,N007=[b _ 3}, , No0S§ :[b _ 2}, , No08 = [b _ 8}
c=2.1
d=2.01
45- //
40 //
| 7
35 //
/
30+ /
) /

25 //

20- /
V4
7
//
151 /
pd
)
//
10
-/.//
5_
y 3 3 3 4 5 6 7 8

-5
=10+
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):0:9:0.0:0:9:0:0:9:0.0:9:0.0:9:9.0.0:9:0.0.0:9.0:0:9:0.0:9:9.0.:0:9.0.0:9:0.0:9:9.0.0.9.0.0:9:0.0:0:0.0.0.9.0.0:9:0.0:0:9.0.0.9:0.0:0:0.0:0.9.0.0:9:0.0:0:9.0.0.9:0.0.9:0.0:0:9.0.0.9:0.0.0.9.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00021XX
Diff0l for No.10966

2x+k ; x<3 3x+k ; x<-2
NoOI:[f(x):[ D ,NoOZ:(f(x):{k D

3°%+2 5 x>=3 =21 ; x>=-2
3x-2 . x<=-3 ax+23 x<-4
No03 =| f(x) = 4x+a ;o S3<x<=2{]|, ,NoO4=|f(x)=| bx+a ; -4<=x<4
bxX*+7x+23 x>2 4x+b ; x>=4

No05 =[f(x)=(x—-2)"+1]

f(x):5x2—2
a=2 a=4 a=238 a=6
NoO6=| b=22 |, ,N007=[b:7}s 7N008=[b:3}’ ’NOOS:[ZJ:J
c=2.1
d=2.01
45-
/
40- /
35- /.(
/
//
30| /
7
/
25- /
//
20 //
7
15+
7
10+ //
el
5‘\ /
\\\ /./,
; e T T T T T T B
_5—
-10]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00022XX
Diff0l for No.11154

NoO]:[f(x):[kx2—4 ; x<4D’ ,NoOZ:[f(x):[kx+84 : x<:_4D

Tx+32 ; x>=4 4x*+k ;x> -A4
bx*+4x+2 ; x<=-3 bx+14 x<-3
No03 =| f(x) = Tx+a ;-3 <x<A4|| ,NoO4=|f(x)=| ax+b ; -3<=x<=3
2x°+34  ; x>=4 3x+a x>3

No05 =[f(x)=(x—1)"+3]

flx)=5x"—4
a=3 a=28 a=4 a=6
NoO6=| b=32 | ,N007=[,,:3} ’Noog:[bzz}’ ’NOOS:[sz
c=3.1
d=3.01
45- A/
/
/
40- /
35 /
J
30 /
/
25+ /
/
20+
/
//
151 /
/s
e
10 //
5_
\—q‘_‘—-g—_——-‘
3 D T T T T T T . T T
-5
=10+
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):0:9:0.0:0:9:0:0:9:0.0:9:0.0:9:9.0.0:9:0.0.0:9.0:0:9:0.0:9:9.0.:0:9.0.0:9:0.0:9:9.0.0.9.0.0:9:0.0:0:0.0.0.9.0.0:9:0.0:0:9.0.0.9:0.0:0:0.0:0.9.0.0:9:0.0:0:9.0.0.9:0.0.9:0.0:0:9.0.0.9:0.0.0.9.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXM6/1-6800505-00023XX
Diff0l for No.11191

NoO]:[f(x):[7x+31 ; x<:4D’ ,NoOZ:[f(x):[4xz+k . x<:_2D

4x+k ; x>4 kx+25 ; x>-2
3x%+bx—5 K x <=-4 ax+16 x<=-3
No03 =| f(x) = Y +a s 4<x<=2|, ,NoOd=|f(x)=|bx+a ; -3<x<=3
33+5x ; x>2 S5x+b x>3
No05 =[f(x)=x"+7]
fx)=4x"-3
a=3 a=6 a="7 a=38
NoO6=| b=32 | ,N007:[b:3}, ,NoOS:[bzg}, ,NoOS:[b:J
c=3.1
d=3.01
45+ /
/
40 f-
//
351 /
/
30 //
/
7
//
25+ /
20+ //
//
15 -
)
pd
10 //
5_
1 1 2 3 4 5 6 7 8
-5
=101
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00024XX
Diff0l for No.11309

NOO]:(f(x):|:4x2_2 ; x<:2D’ ,NoOZ:(f(x):[kx+23 R x<_2D

3x+k ; x>2 02X +k ; x>=-2
5+4x ;o o x<=-3 12+bx x<=-2
No03 =|f(x) = X +a ;-3 <x<2||, ,NoO4=|f(x)=| ax+b ; -2<x<=3
bxl-x—18 ; x>=2 4x+a x>3

No05 = [f(x)=x"+7]

flx)=3x"-7
a=2 a=28 a=6 a=4
No06 = bhb=22 A R N007:|:b _ 5:|, N No08 =|:b _ 8:‘, ,NOOS = |:b _ 2:‘
c=2.1
d=2.01
45- f
/
/
/
40+ /
/
351 //
30 /
/
/
s
25+ //
20+ /
//
i pd
15 .
s
pd
10 //
5_
. o S Sy TS W s o

-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00025XX
Diff0l for No.12483

NOO]I[f(x):[2x2+3 N X<:3:|j’ ’N()OZ:(f(x):|:7x+k N x<—3i|)

kx ; x>3 kx*=53 ; x>=-3
34 ;. ox<=-3 bx+13 ; x<=-3
NoO3=|f(x)=|ax*-7x-7 ; -3<x<2|} ,NoO4=|f(x)=| ax+b ; -3<x<=2
-29+bx N x>=2 6x+a x>2

No05 =[f(x)=x"+3]

flx)=3x"+8
a=4 a=28 a=4 a="17
No06 = b=42 A ’N007:[b=6}’ ,N008=[b:7}, ’NOOS:[},:J

c=4.1

d=4.01
45 //

/
40- //
35 //
30 //
25+ /
/
/
201 /
15 //
S
10+ //
///
5 /./’/
. T I ) U P S o -

-5
=10
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00026XX
Diff0l for No.12557

NoO]:(f(x):sz_S ; X<4D’ ’Noozz(f(x):[3x2+k : x<:_3D

6x+k ; x>=4 kx+35 ; x>-3
—4+ax ; x<-2 bx+11 ; x<=-2
No03 = ﬂxy:3x2+6x—18 ;o -2<=x<=3|]|, ,NoO4=|f(x)=| ax+b ; -2<x<=2
2%+ b K x>3 6x+a x>2

No05 = [f(x)=x"+5]

[f(x)=8x>+7
No06 = ba—zzzz N07—[“:6} Nog—[“zz} NOS—[a:ﬂ
006 = | OV = p=sy T p=gl T b =4
C=_4.
L d=201
45 /
//
i /
40 /
/
/
35+ //
30- /
25 /
20+
=
15- //
i
4
/
10
//
..//
5_ﬁ__.—‘
1 1 2 3 4 5 6 7 8
5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00027XX
Diff0l for No.12637

( [7x+k N x<:4D ( {8x+k N x<—2D
No0I =| f(x) = . L No02=|f(x)=

2x°+2 ; x>4 k=34 ; x>=-2
3+4x x<-3 12+bx x<=-2
No03 =| f(x) = X -2x+b ; -3<=x<=4||, ,NoO4=|f(x)=| ax+b ; -2<x<=3
ax*-54 x>4 4x+a x>3

No05 = [f(x)=(x—-1)’+6]

fx)=5x"+6
a=2 a=8 a=5 a=8
No06 = bhb=22 A R N007:|:b _ 4:|, N No08 =|:b _ 7:‘, ,NOOS = |:b _ 3:|
c=2.1
d=2.01
45 L
/
/
/
40+ /
J//
351 /
30 //
V4
251 /
//
20+ 7
//
15- v
yd
g
10+
M |
5_
. T I ) U P S o -
-5
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM6/1-6800505-00028XX
Diff0l for No.12689

§x—10 ; x<3 2ok _
NoOI:(f(x):[ * * D ,NoOZ:(f(x):[4x thooxs< 4D
kx'—4 ; x>=3 kx+94 ; x>=-4

Y+S5x+a ;o x<=-2 bx+16 x<-3
NoO3=|f(x)=| -T+bx ,; -2<x<4|]| ,NoO4=|f(x)=| ax+b ; -3<=x<=3
3x°-51 ; x>=4 5x+a x>3

No05 = [f(x)=x"+3]

flx)=8x"+3
a=2 a=3 a=4 a=5
No06 = bhb=22 A R N007:|:b _ 4:|, , No0O8 =|:b _ 2:|, , No08 = |:b _ 4:|

c=2.1

d=2.01
45+ //

/
40 //
351 //
| /
30 //
25+ /
7
/
20+ /
15 //
10+ //
//
/
5] ]
. e e s s oy DI SN SN

-5
=10+
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Diff0l for No.13349

NOO]:[f(x):[kx2_3 : X<Z4D’ ’Noozz[f(x):[kx+89 ; x<:-4D

5x+25 ; x>4 4 +k ;x> -A4
1+x ; x<=-2 bx+32 ; x<-4
No03 =| f(x) = X +b ;o -2<x<=3|]| ,NoO4=|f(x)=| ax+b ; -4<=x<6
3% +ax—44 x>3 3x+a x>=6

No05 =[f(x)=(-2+x) +4]

fx)=7x"+6
a=3
a=6 a=38 a=8
NoO6=| b=32 |, ,N007=[b:5}s 7N008:[b:2}’ ’NOOS:[b:J
c=3.1
d=3.01

45-

40 //
35- /

30

25+ //
20+ //

15 A

10 o

=10+
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Diff0l for No.13519

AbO]:[ﬂx):[kxz—l ; x<:4}j’ ,AbOZ:[ﬂx):[kx+56 ; x<:_{D

4x+15 ; x>=4 4x+k ; x>-3
Ctax+4 ;o ox<=-4 bx+16 x<-3
NoO3=|f(x)=| Sx+b ;o 4<x<3|| ,NoO4=|f(x)=| ax+b ; -3<=x<=3
37448 ; x>=3 S5x+a x>3

No05 =[f(x)=(x—3) +4]

flx)=5x"+2
a=3
a=17 a=35 a=38
NoO6=| b=32 |, ,N007=[b:8}s 7N008:[b:g}’ ’NOOS:[b:J
c=3.1
d=3.01
454
40+
354

30 /
25 /

20- A

15 A

10 N v
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Diff0l for No.14276

NoO]:(f(x):{7x+k ; X<4D’ ,NoOZ:(f(x):[2x2+k . x<:_3D

345 ; x>=4 kx+26 ; x>-3
X4 i x<-4 bx+15 x<-3
NoO3=|f(x)=|2x"+ax-8 ; -4<=x<=2|}, ,NoO4=|f(x)=| ax+b ; -3<=x<=3
S5x+b ; x>2 dx+a ; x>3

No05 = [f(x)=x"+3]

flx)=3x"-5
a=2 a=>5 a:8 a=>5
No06 = bhb=22 A R N007:|:b _ 3:|, , No08 =|:b _ 6:‘, ,N008 = |:b _ z:l

c=2.1

d=2.01
45- //

/
40- //
35 //
| /
30 //
25+ /
/
/
20 /
15 //
pd
10+ //
///
51 /./’/
. o S Sy TS W s o

-5
=10+

X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXXKXXKXXKXKXKXKXKXKXKXKXKKXKXKKXKKXXKKKXKXKXKXKXKXKXK



):0:9:0.0:0:9:0:0:9:0.0:9:0.0:9:9.0.0:9:0.0.0:9.0:0:9:0.0:9:9.0.:0:9.0.0:9:0.0:9:9.0.0.9.0.0:9:0.0:0:0.0.0.9.0.0:9:0.0:0:9.0.0.9:0.0:0:0.0:0.9.0.0:9:0.0:0:9.0.0.9:0.0.9:0.0:0:9.0.0.9:0.0.0.9.¢
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Diff0l for No.14380

NoO]:[f(x):[4x2_2 ; X<Z3D’ ’Noozz[f(x):{kxz—ﬂ ; x<_4D

kx+13 ; x>3 6x+k ; x>=-4
4 +4x ; x<-2 ax+22 x<=-4
No0O3=|f(x)=|3x"~Tx+a ; -2<=x<3||, ,NoO4=|f(x)=| bx+a ; -4<x<=4
bt — 41 . ¥ >=3 3x+b x>4
No05 =[f(x)=(-2+x)* +4]
flx)=3x"+2
a=4
a=3 a=4 a=4
NoO6=| b=42 | ,N007—[b:2}s ,NoOS—[b:J, ’NOOS_[b:S}
c=4.1
d=4.01

45-

/

351 /

30- /

25+ /
20+ /

15 A

10 o

=10+
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Diff0l for No.14393

[ [ kx : x<:2D ( {2x+k : x<—2D
No0I =| f(x) = . L No02=|f(x)=

344 x>2 kX’ =16 ; x>=-2
4+bx ; x<-2 bx+18 ; x<=-4
No03 =| f(x)= Y+4x-6 ; 2<=x<=3||, ,NoO4=|f(x)=| ax+b ; -4<x<3
ax’-12 x> 3 4x+a ; x>=3

No05 =[f(x)=(-2+x) +6]

fx)=5x"+4
a=2 a=>5 a:2 a:4
NoO6=| b=22 | ,N007=[,,:4} ’Noog:[sz’ ’NOOS:[bzs}
c=2.1
d=2.01
45- £
40 /.{
/
/
35 //
30 /
//
25- //
/
4
20- /
//
15 -
10+ A
\\ /
\\
5_
y p 5 3 4 5 6 7 8
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